sRGB-triangle lightnesst*, CIE tristimulus value discri-
mination dY and CIE contrast (Y/dY) sRGB: see IEC 61966-2-1
sRGB-triangle lightness forachromaticcolours: RGB
tsra8,100= 100 /Y2 (V=22(R), =71(G), =07(B
For the discrimination we get:
dt*sras, 10ddY = (1/2,4) ¥1¥y) - 424= 0,42 y1v,) %8
and for dt*spgp 10571 (about 3 thresholds) we can write:
dv =24 ()2
or log(dY) = log(2,4) + (1,4/2,4) loy(/Y,,)
therefore in a log-log diagram the slope is 1,4/2,4.
for the CIE contrast sensitivity, and fordt*sRGB 1061
iy = (v, "2 92,4) (1v,) 2
or  log(Y/dY)= log(Yy"*292,4) + 1/2,4 log(/Y,)
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